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#include<cstdio>

using namespace std;

int n,s,t,al[100005];

int min(int x,int y
==—1

x>y

int main
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scanf("%d",&t) ;
t--

scanf("%d%sd",&n,&s) ;
int i=1;i<=n;i++
scanf("%sd",&a 1] );
aln+1]=0;
int left=1,right=1,1length=100005;
long long sum=all];
right<=n

sum==s

length=min(length, right-left+1);
sum-=a|left++];

sum+=a|++right];
length==100005
length=0;
printf("%d\n",length);

0;
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poj 2566 Bound Found
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#include<cstdio>
#include<algorithm>
#define INF Ox3f3f3f3f
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using namespace std;
int n,k,a;
typedef pair<int,int> unit;
unit sum ;
int main
scanf("%d%sd",&n, &k )&&n

int i=1;i<=n;i++

scanf("%d",&a) ;
sum[il=unit(sum/i-1].first+a,i);

sort(sum+l,sum+1+n);
int i=1;i<=k;i++

scanf("%d",&a) ;
int t=INF,1l,r;
int left=1,right=1;right<=n;right++
sum/ right].first-sum/left].first>a
sum|[right]|.first-sum|[left].first-a<t
t=sum|right|.first-sum|left]|.first-a;
l=sum|left].second;
r=sum|/ right|.second;
left++;
a-sum|right|.first+sum|left].first<t
t=a-sum|/right|.first+sum|/left]|.first;

l=sum/[left].second;
r=sum|right!.second;

printf("%d %d %d\n",sum|[r].first-sum[l].first,l,r);
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